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GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA - 1’ST / 2’ND SEMESTER-EXAMINATION -JUNE/JULY- 2012

Subject code: 320001

Subject Name: Mathematics-11
Date: 28/06/2012 Time: 10.30 am - 01.00 pm
Total Marks: 70

Instructions:

Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

English version is Authentic

Use of programmable calculator is prohibited
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1. (a) 1. If the distance between points (5, x) and (2, -3) is 5 units, find the value of x.
2. Find the perpendicular length of a line 3x +4y +5 = 0 from origin.
3. Show that line 3x — 2y +5 = 0 and 2x +3y -7 = 0 are mutually perpendicular.

(b) 1. Obtain the equation of a circle passing through point (2, 3) having centre on point of
Intersection of lines 3x + 2y -1=0and 4x +y +2 = 0.
2. Find the area of triangle whose vertices are (3, -2), (9, 3) and (5, 2).

2.(a) 1 If yzwﬁnd %

2. Evaluate: lim w
X>=2 X"+ X-2
(b) 1. Find the equation of a line which is perpendicular to the line 4x -5y +6 = 0 and pass
through mid point of a line joining points (3, 7) and (-1, 5).
2. Obtain the equation of tangent to the circle x*+ y*—4x+6y+5=0 at point (1, 2).
OR
(b) 1. Find the point of intersection on X-axes by a line joining points (2, 2) and (-3, 6).
2. Find the centre and radius of a circle 4x* +4y®+8x—-12y-3=0.

3. 1.1f f(x) =L then show that f (x) + f (1j=1.
1+X X

2_
2. Evaluate: Iimw.
x—o x“4+3x-1

3. Using first Principle differentiate Jx with respect to x.
(b) 1. If y=Sin(x+y), find %
X

2. Find the derivative of %tan3 X—tan X+ X .

OR
3 (@) 1.If f(x)=Sinx then show that 2f(x) f (%-‘r xj: f(2x).

e*+sinx—1

—

3. Using first Principle differentiate x> with respect to x.
1

2. Evaluate: lim
Xx—0

[2]
[2]
(3]
[4]
3]
[4]
(3]
[4]
(3]
[4]
(3]
[2]

[2]
(3]
[4]

3]

[2]

[2]
(3]



(b) 1.

4.(a) 1.

(b) 1.

4.(@) 1.

() 1.

[

5. (@)

(b) 1.

5.() 1.

(b) 1.

. Evaluate: j

. Find the value ofJ

If x=a(0+Sing) and y = a(l—Cos), find %
X

. Find the derivative of Iog( +1j.

x? -1

A particle has motion of S =2t° +3t* —12t + 6. Find the velocity and acceleration
at t = 2. What will be the acceleration when particle comes to rest?

. If y=1log(secx +tanx), find %
X

Evaluate: J'x2 log xdx

2dx

OR
Find the maximum and minimum value of 2x® —15x* +36x+10.
log x

. Find the derivative of —— atx=1.

X

Evaluate : j X4+3dx
(x=1(x-2)

. Evaluate : J e*Sinxdx .

xdx
X2 +3

Evaluate : J.Md

Cos’x

Find the value of J—
++/tan x

Find the area enclosed between the parabola x*> =4y and liney = x.

OR
Find the value of jﬂd
\/’
Evaluate : .[—
16— 25x°

Evaluate : .[ x?(1- x)/2 dx
0

Find the volume of a solid generated by revolving the curve x? +4y? = 4around
X-axes.
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1. () 1. (g (5, X) Ua (2, -3) co] AR 5AsH 8l Al, X ofl BHd QL.
2. 2uL 3X +4y +5 = 0 of Jaldlgll cot vidR AL
3. olcllall & U 3X — 2y +5 = 0 Ul 2X +3y -7 = 0 URRUR du B,

(o) 1. (g (2, 3) Hiell URR Ul WA Bof Fost JWURAM X + 2y -1 =0 uA4X +y +2=04]
Bellg 8l dal adn of wHlsweL Aadl.
2. (3,-2), (9, 3) va (5, 2) Asleett QAL slat Al Aof Axsa AAA.
_Sin(log x)

2 () 1.9 y=2nU00%) 3 & g
y X dx

2. G fim X r2CXA2
x>-2 X"+ X—-2
(o) 1. [@ga (3, 7) A (-1, 5) A Ascll ndtotl U guiell UAR Ul U 4x -5y +6 = 0
WA At dla Al Rt qllswL 0.
2. ©@g (1, 2) a0 ada x* +y* —4x+6y+5=0 oil 2use] wlsel Aad.
uel
(o) 1. @ga (2, 2) A (-3, 6) A Ascll dvisatl X- Mt UR Bedl [Glgall a1 A,

2. ada 4x2 +4y? +8x—12y -3=0 of Jos uA Bl AL

3.0 1R f(x):ﬁ A ot 3 f(x)+f[§j:1.

2_
2. @ lim X ~X* T
x—o x°43x-1

3. @sclotoll Yo Ranell Heesdl/x of x wdet @sctot 53,
(o) 1. %l y=Sin(x+Yy) rﬂ% I8
X

2. ltan3 X—tan X+ X of @scet AAdl.

AUl
@) 1. B f(X)=Sinx A dcddl 3 2f(x)f(%+x)= f(2x).

e*+sinx—1
—
3. [@scototl yuH Ranoll Heedll X3 of x wdet @sctet 53,

2. G3l: lim
x—0
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(o) 1. %l x=a(d+Sing) ua yza(l—Cose)dl% .
X

2
2. Iog( j o [@Asctet Al

4, (1) 1.5 50 S =22 +3t° —12t+6 wlsweel oA 52 B. t =2 w1 Aol AdL A YA A,

s0L AR RAR RAAML A A AHL Aol YAdL 32l U?
2. % y=log(secx+tan x) % .
X

(o) 1. G3A sz log xdx

2dx

2@31]

AUdl

4, (1) 1. 2x°—15x%+36x+10 of UetiH el ofotrid HeA A,

Iog

2. X =1Ul o @slAd Aaal.

() 1. G3cL: '[X4+3dx
(x=D(x-2)
2. Gl Jec"SXSinde.

xdx cfl (Fd 0.

5. (1) 1. j

2. G¥l - jMd

Cos®x

SR

1. ol it A
0L [y A

2. URadA X° =4y WA WALy = X A deldl YEaef Adgn Al

Al

5. () 1. J‘ﬂdx oll (Sut e,

Ix
2. GXAL: j

16 — 25x2
(@ 1. 6 | x2(1—x)4dx
0

2. ds X2 +4y® =4of X-vial Uetl URGHE tleldl Eote] Elotgal L.
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